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CERTIFICATE IN TELECENTRE/VILLAGE 
KNOWLEDGE CENTRE MANAGEMENT 

(CTVM) 

Term-End Examination 

June, 2014 

OXE-021 : TELECENTRE AND COMMUNITY 
INFORMATICS 

OXE-022 : PLANNING AND MANAGEMENT OF 
TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : 
(i) Attempt all sections A, B and C as per the 

directions given in each section. 
(ii) Marks for each section are indicated against 

it. 
(iii) Answers should be brief and to the point. 

SECTION A 

(CHOOSE THE BEST ANSWER) 	10x2=20 

(i) Answer all questions. 

(ii) Each question carries 2 marks. 

1. Where was the first telecentre established ? 

(a) United States of America (USA) 

(b) Sweden 

(c) Canada 

(d) Sri Lanka 
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2. The success of your telecentre will depend on the 
extent to which you fulfil the needs of the 
community. 

(a) True 

(b) False 

3. Which is the micro unit of the social system ? 

(a) Individual 

(b) Family 

(c) Community 

(d) Religion 

4. One of the objectives of information for 
development is to enhance the decision making 
power of the community with the right 
information. 

(a) True 

(b) False 

5. Which of the following is an e-mail etiquette ? 

(a) Using capital letters 

(b) Short messages 

(c) Using bold letters 

(d) Underlining 

6. Which of the following is a storage device ? 

(a) Monitor 

(b) Mouse 

(c) Pen drive 

(d) Keyboard 
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7. Which among the following is not a desired 
quality of a telecentre manager/operator ? 

(a) Honest 

(b) Reliable 

(c) Short-tempered 

(d) Punctual 

8. Which of the following is the most essential 
networking skill ? 

(a) Be a good listener 

(b) Be a person of strict principles 

(c) Be a good negotiator 

(d) Be a person of leadership qualities 

9. Which among the following is not an e-mail 
service provider ? 

(a) Google 

(b) G-mail 

(c) Hotmail 

(d) Yahoo 

10. Which is not a technology to connect to the 
Internet ? 

(a) Wi-Fi 

(b) VSAT 

(c) Vodafone 

(d) Broadband 
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SECTION B 

(SHORT ANSWER) 	5x6=30 

(i) Attempt any five questions choosing at least 
two questions from Part I and Part II. 

(ii) Each question carries 6 marks. 

PART I 

11. What do you mean by Public Private 
Partnership (PPP) model ? 

12. In your own words explain how telecentres 
contribute to Community Development. 

13. Define Community Information. How does this 
contribute to the socio-economic development of 
a community ? 

14. What measures would you adopt for telecentre 
sustainability ? 

OXE-021 & 22 	 4 



PART II 

15. What are the main uses of the Internet ? 

16. How do you manage equipment breakdown in a 
telecentre ? 

17. Why is time-management important for a 
telecentre ? 

18. What are the principles to be followed to 
establish a good partnership ? 
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SECTION C 

(ESSAYS) 

Answer both questions from this section. Each 

question carries 25 marks. 	 2x25=50 

19. Explain in detail how you will map the resources 
of a local community to establish a telecentre for 
its development. 

OR 

How does application of ICT boost the 
socio-economic development of a community ? 
Explain in detail with examples. 

20. With the help of a diagram explain the 
stakeholders in Telecentre Management. 

OR 

Explain how a telecentre manager can 
effectively play the role of a community leader 
contributing to community development. 
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